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( PART-1 Jil )
10 2. Write short answers to any Five (5) questions : &l oz L 2y (5) ég e df -2
(i) What are the effects of smoking on teeth? St &n 7 ey t_,;( £ UFD & ..ﬁ?‘ (i)
(i) How sound is produced in voice box? fe Jﬂ L4z d: T A Us I (i)
(iii) What is the function of hairs and mucous in the nose? U 2t [‘E’ _.Lf u'( ¥ nl JL P ln I (i)
(iv) What are the causes of stone formation in kidney? o L_..f AT J d‘_ ;_5/: 9 ﬁ.u” (iv)

(v) Define homeostasis. Give an example. 25 Je L él -t /J J Sn (V)
(vi) What are meninges? Write down their functions. chg V4 Juit Z V4 ﬁ.{ & ;_?u': (vi)
(vii) Write down the function of rods and cones present in _ig/‘y Wl ol 530 21 R ISF T (vil)

(viii) ﬂzuﬁsi?;:: izn be treated? fe n® b _Lf d_' Gk ¥ d} (viii)

10 3. Write short answers to any Five (5) questions : aof AR /‘? L =iy (5) 5«1_- = Jf -3
(i) What two minerals are found in bones? V4 (jlg J& = 0 r;J:( e (i)
(ii) Differentiate between tendons and ligaments. ..é.— YT - u‘." (7 ()

(iii) Define reproduction also write its importance for species. -ﬂwl@uﬁd& Lulé i EJJ(SJ&; (iii)
(iv) What is micropyle? What is its use for seed? Se YL URBE 1 L £ B ' ' S, S8l ()
(v) What is meant by alternation of generations? ). e Jy '{/-é;— /b- y RS },‘:JT (v)
(vi) Differentiate between homozygous genotype and 'é{,’f’ - { sz a9 s~y (Vi)
heterozygous genotype. i

(vii) What is meant by co-dominance? S ol Y = J‘.-'f‘:;i - f (vii)
(viii) What is theory of special creatian? S U LK JF ¢ (viii)
10 4. Write short answers to anyFive (§) questions : ol VAT 4 /3 L =iy (5) g;l'- & (3/ -4

(i) What is meant by decomposers? Give an example. .y d‘ Je fe ol _.l/ = Ju'.v;rgﬁ (i)

(i) Write down four‘disadvantages of excessive denitrification. - 2. ..-.ftl-n'-".r!lrf. d’-‘% PR Smabie JE (i)

(i) Whatis greendfouse.effEct? Write the name -2 tZ UsrdUrsyey S Setfalusrsyer S (i)
of two important green house gases. -

(iv) Writesdown four uses of formic acid. *éf_f 27 =W L L a2 L6 (iv)

v -
(v) Oefine the t€fm biotechnology. Also write its one benefit. _& Lﬁu’i&_{l -:’-ﬁ ! /"Jd:’i:-.?f Lo(v)
(vi) Differéptiate between pharmaceutical and addictive drugs. _f-é*f J-)uc.'.:-yni #TE 2 Pl (vi)
(vii) What do you mean by narcotics? Write down its one use. Zy ﬁJL'?‘I..,_Qdf (19 ?.‘C.J[f'_r(::*(_fry:t (vii)

(viii) What are sulpha drugs? Write down its one use. &t J1 ..g ¥ U1 lﬂf A5Gl (viii)
( PART-1II e )
Note : Attempt any TWO questions. '&0' =z L oely » e (3:( O
4 5. (a) Explain osmoregulation and thermoregulation. -é.:‘?w:(,(ﬂ:{xf/ A Pt () 5
5 (b) Write down the name and explain LEE ol &, LU L JE BT )
different components of coordinated action. ~ _ -
4 6. (a) Define arthritis and describe its types. -é 27 P Suazg v/ g AT () -6
5 (b) Define germination of seed. B ATl L 3586 (L)
Describe various conditions necessary for seed germination. =
4 7. (a) Give a detailed account of urbanization. O - Va1 L e ()7
5 (b) Explain basic steps in genetic engineering. 2o Sron 3 /".f”l <2 ()
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L e = ;_,Cu:}béfc:.)c"_b—é:d'rﬁ{{ébﬁff _u_',"é":..’:__.:D MC'BA al;lﬁ.aﬁx.lgﬁdlr/: Py
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.
A cluster of specialized cells which surrounds and nourishes, : r"_t'il-:'f/.f_ Gl 17 la{.{lwl-’u‘r“%/@:.._ﬁ\.ﬁ,: 1 -1
each egg cellis called :

Cervix ;f;/ (D) Uterus J%¢ (C) Follicie ﬂ;’ (B) Fallopian tubes Jf.z:'ufﬂg’ (A)

” ¥ e P
E-Coii bacterium was created for synthesizing human growth lfgh.._.fﬁﬁééw.dr s b sl 2 duif2
hormone in :

1977 (D) 1870 (C) 1967 (B) 1985 (A)
The inner layer of eye is sensory and is called as : V4 Zﬁ/ ) sl d/’f o, (}uﬂ L; .J':JT 3
Retina &2 (D) Choroid L8 (C) Comea .f (B) Scidta 1. £ (A)

The specific sequence of : ci:.t'ka ‘ b@g:/ﬁ,ﬁf&.‘(b!;&i;..lqu Tﬁ;‘;&'fu‘nyﬂ’Eﬁéﬁ;iqﬁdj 4

DNA nucleotides is copied in the form of messenger RNA nucleotides is4fownas :

Translation u’-’H} (B) Transcription L,};/C;,_; (A)
Translocation vﬁ-‘g’u" I/ (D) : Transduction ;fa,i;f I (C)
Which of the following drug is obtained from plants : R {jb J J" b Ungln g J,;Jf e J |5

Cephalosporin ¢/ sz (D)  Insulin ufr’l (G Morphine ;;F?z'. (B) Aspirin ¢/ £+ (A)

The World No Tobacco Day is observed every | : 4?t‘lg_l_,b‘-.:fdlr/; (L:J:L}Jt..iﬂ-;é:f;fg) P, ;Ef ¥ 2|6
year on

31stMdy & 31%(B) 31st March &L 31 (A)
3stdugtist 2 31 (D) 31stduly QU2 31 (C)
The latest method of vegetalive propagation is : -y )’ COF T A A e 3 EJ:': T
Bulbs L _(DJ Cloning g1 (C) Cuttings 3555 (B) Budding £ % (A)
The maintenance of internal body temperature is called : : g-_ru.«f'guﬁﬁ' l?f..::lf,?;)&u..cl“:r‘)' 8
Osmoregulation dyxg;.ﬁl (B) Homeostasis J""}d v (A)
Excretion cﬁ};"l’/ I (D) Thermoregulation ﬁ:{ .vr‘/; (C)
The specific combination of genes in an individual is known as : : q.b'il-:@’;@:xg._-..f S E’;‘:’-;,C:).p 9
Genotype L#7 (D) Allele J-{F (C) Karyotype .;Ft'g,{ (B)  Phenotype o* £ss (A)
Which bone is part of appendicular skeleton : e o B s f:gfs:;i s o o w10
Sternum r"/“ (D) Skull $ {3{ (C) Vertebral column Hb’a,_,' & (B) Pectoral girdle JE/O.W..CT (A)
The largest part of forebrain is called : oy bty o 1% o ¥ c,f.u;’ 1
Cerebellum f’-’-‘d « (D) Hypothalamus (s ":ffg (C) Thalamus .{'_‘;' (B} Cerebrum £z« (A)
The base of food chain is always formed by : P 13’. & J 25k d’ Dt 58(12

Food web .,.-_-,:5;' (D) Plant (producer) ¢ (C) Ecosystem If'/ £ (B) Animal s#6 (A)
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( PART-1 Uit @)
10 2. Write short answers to any Five (5) questions : . off AT ﬁ&a—ﬂlr (5) ég = Jf -2
(i) What is the difference between breathing and cellular respiration? ‘:"9;3)9’;#@ _;‘f-z/J!.I." 7l J" d (i)
(i) What is pneumonia? Write its symptoms. -é _._f,; =ik J V1 S I:(y:" (i)
(i) What is meant by lung cancer? Wirite its two causes. ..Eig.:.-}fmgfw T‘a;_ay{:f:::. *-Z.u:y;!; (iii)
(iv) What is called guttation? ot ?: = _,:.-._n.“f (iv)
(V) What is meant by lithotripsy? T sy l._:'/ = g (v)
(Vi) What are two important functions of spinal cord? fur ._Lf rb’ (1 2 L 3_;5( J"_'_I.-« (vi)
(vii) Differentiate between myopia and hypermetropia. = ,{f“ O/ L kaE Yol A& L (vii)
(viil) What is paralysis? Write down its causes. _é. _/; =R J ol Ye l_f éli (wiii)
10 3. Write short answers to any Five (5) questions : & eyz ety 5) 8y = O 3
(i) Differentiate between movement and locomotion. e I/ L-" 4 dbﬁ-d’;‘ =Sz (i)
(i) What is skeleton? Write one merit, -é .‘_’f" 2 4L S sy Vo< ol (i)
(ii)Explain parthenogenesis with example. -é' =l = JB J u"’) x:":k (iif)
(iv) Write down procedure of tissue culture. 2y IFE A (iv)
(v) Differentiate between two methods of pollination. ..%— ok g/ KUt Ll uﬁ:dﬁ (v)

(vi) Differentiate between translation and transcriptidh, -é' 5’ Iy 3/ Ut c)"‘-{/;‘i} A el f" {vi)
(vii) What is difference between homozygous ang heterozygous? ‘-';. J}gf.,,ct “Lis 2z sl J‘gl}fyr (vii)

(viil) Write two important processes for orgafic evolution. _é' ._/j-'. Jff (" 9 L oo J_.I..-I: (viii)
10 4. Write short answers to any FIVE (5) quéstions : : é'.-.uz/"'z.’.@mr (5) é* = Jf -4
(i) Define ecosystem. w8 AL )
(i) What is deforestation? Givelitsdwo effects. 2% ezt Sssd ! Pt/ (g“fiw;)éuf =2 (i)
(iii) What are pollutants? Give two examples. Sy .-_)*-Jifw nd o fur U 69T L u‘ﬁ& (iii)
(iv) How cheese issformed? e B d: (Cheese) Z | £ (iv)

(v) How humdn growth hormone was obtained ?LitLg_WJ‘bd_fumg ﬁfdul%:;._f}:."}h.@:? (v)
befofe geneticiengineering?

(vi) Howhtérramycin developed? ‘—'Cif Jl:: c.;.'.( L (vi)
(vii) How sedatives work? Sur 08 5 r( c_’: i ke (vil)
(viii) Differentiate between bactericidal and -i: L-,JL;J)J!J"{,-E ';Lf '-@”;f }‘-C "l df»"b—d }g (viii)
bacteriostatic antibiotics.
( PART-II (11 )
Note : Attempt any TWO questions. -& =\IR Loty ve J)’ O
4 5. (a) Describe the two types of dialysis in detail. “E Y b =Y g A (W) L5
5 (b) What is meant by neuron? Describe its types. _é‘ukfﬁld/w tetpe gl ()

4 6. (a) Define joint and explain the types ..2;-'-'.-.-:”.5::“_ u:’iﬁ-d?l.—'"id/ﬁf_l:};?;é ?..::..JI/I_..JJ.:J:?.‘ () .6
of joints with the help of exampies.

5 (b) State any five methods of natural _Z_-‘:.'.L;Jlfa.)éiﬁ_d:'z S, #7330 ()
vegetative propagation.
4 7. (a) Explain producers and consumers with examples. 2% u!lf»_quJ;/ng,r iy () 7

5 (b) Describe the basic steps in genetic engineering. 2 Bl £ (L)
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